PHYS 211 College Physics |
Exam 5C

- November 29, 2017
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1. An electric fan is running dh“H‘IGH‘:‘fAfter the LOW button is pressed, the angular speed of the fan
decreases to 64.3 rad/s in 1.67 s. The deceleration is 34.5 rad/s®.

What was the initial angular speed of the fan?
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2. A 43.0 kg skater is traveling due east at a speed of 5.50 m/s. A 75.2 kg skater is moving north at a
speed of 2.25 m/s. They collide and hold on to each other after the collision, managing to move off at

an angle & north of east, with a speed Vvr.
Find

a. the angle ¢ and

b. the speed vr
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igure
3. A railroad car with a mass of 3250 kg is moving to

the right with a velocity of 1.50 m/s at the top of the 4.25 m hill shown in Figure 3. The car rolls down
the hill and crashes into a stationary car of mass 2520 kg. After the collision the cars are coupled and
move together. Assume friction can be ignored.

a. What is the speed of the cars after the collision? = . &/ " /&~

g . ¢ @ VAN o : 19’ A T
b. How much energy is lost in the collision? (L \c 7L~
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